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SR T A 350,000 450,000 A100,000
401 A &HIYL 2048 350,000 450,000 A 100,000
01 Al&H| 350,000 450,000 A100,000
OXtE &M T AL 350,000
SHMAEE =E - 22 156,820 193,880 237,060
201 LetEIH| 25,320 23,280 2,040
02 22234l 25,320 23,280 2,040
QuUsAE &S 25,320
cuwsSAST] 60,000& * 237| = 12& 16,560
cdEs 20,000& * 257| » 12& 6,000
odES 10,000& = 237] = 12& 2,760
401 A &HIL 2048 131,500 170,600 239,100
01 Al&H| 131,500 170,600 A 39,100
OuSoH& H X & 32,500
o FOo|H X & 250,000& * 5004 2 12,500
o 7 Ml E X & 200,000& * 2500 2 5,000
= Xl Al E X & 200,000& * 5074 & 10,000
oA H X 200,000& * 25012 5,000
QusasINl 60,000,000& * 1JH= 60,000
OZ3Es o4 6,000,000& * 1JH2A 6,000
OunsssIl KX 1,000,000& * 2344 23,000
Ok=4sIl H MZ A
1,000,000 * 502 5,000
OZES RAE= 100,000& * 254 = 23] 5,000
ZuWEs oM XN 31,936 58,246 226,310
201 B3| 14,340 13,520 820
01 AtE22/Hl 4,720 2,720 2,000
OBXME JIZSEXN M 200& * 3,0000H 600
O=MIZE HE 2002 = 2,50000 * 23 1,000
O=F48 ¥ H1g 20,000& * 30& 600
OR&EI| A== 20,000& * 6CH 120
oM7Y 40,0004 * 10& 400
OQusstdsEs 10,000& * 200K E 2,000
02 Z==2ZHl 9,620 10,800 21,180
OXN=xXHEE = 300,000& * 2CH 600
OZNEEES 50,000& * 2CH * 23| 200
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SN

ZHnSH

M EDE |4 A
ool HEE CRIE HAXA (e @8
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ol AF o8 Hws2
ORSYRRY 224 2K 2
35,0008 + 122 420
Oxt | 350,008 * 204 + 128 8,400
202 01t 15,196 15,196 0
01 =2Uioibl 15,196 15,196 0
ONSUMALE 22 HE4F 2,396
ONEXNE YLEX 8,640
OSEAHIE 248 L AASX 4,160
307 212+0IH 2,400 2,400 0
05 BI2tSIEt3 2,400 2,400 0
ORoEgxiz 22Tz 0y X2
200,002 * 122 2,400
HZSAAH (ZHMDS D) 45,852 45,372 480
ol 2| 4,200 4,200 0
ol 2| 4,200 4,200 0
203 HRFAY| 4,200 4,200 0
04 EN2YAREAY] 4,200 4,200 0
ORN2YYL =AY 350,002 * 122 4,200
o= 2| 41,652 41,172 480
2 41,652 41,172 480
201 LByl 37,812 37,332 480
01 AtR2elt] 34,812 34,332 480
ORN2Y =Pl 300,0008 * 122 3,600
ONSEE PU(ZAX S) 200,008 * 128 2,400
OHHANRII| A2E7
300,008 * 15CH * 33 3,500
OWeFAI| X2 50,0008 * 204 * 128 1,200
SEET 7,002 * 2421 % 72 + 128 14,112
02 IT2YH| 3,000 3,000 0
ORua3 3,000
202 01t 3,840 3,840 0
01 =2Uioibl 3,840 3,840 0
Ol&2L 20| 3,840
HPES(ZHDED) 81,000 87,900 26,900
TESEDE 81,000 87,900 26,900
TESEE 81,000 87,900 6,900
701 JIEEHEES 81,000 87,900 26,900
01 JIEtEIHEES 81,000 87,900 26,900
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FA BHS
M HREsS(ZHnsH)
SR WEHANE

SN CR(EH) - NRAY - BES el

rz
J2

r

OFXNETEEH dES

810,000,000& = 10/100 81,000
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